Have out your homework ready to check. TEST on Wednesday
when we return from break!

Classwork - Changes in Dimension Day 2

1. The surface arca of a cube is 400 square millimeters. What is the surface area of a similar cube that is larger by a
scale factor of 37

U0+ 3% 3600 mm?

2. CANDLES The volume of a candle is 8 cubic inches. What is the volume of a similar candle that is larger by a scale

factor of 1.57
8e1.5° @

3. TRAVEL The volume of a suitcase is 4.2 cubic feet. What is the volume of a suitcase that is smaller by a factor of
0.97 Round to the nearest tenth.
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4. DELI A deli owmer uses 215 square centimeters of plastic wrap o cover a wadge of cheese. How many square
centimeders of plastic wrap would she need to cover a wedge of cheese with & similar shape that is smaller by a s

factor of %‘.’ Btounsd to the neansst tenth.
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5. CRACKERS A box of crackers has a volume of 48 cubic ! _ EMAEH 1
inches. What is the volume of & similar box that is smaller - 5

by & scale factor -:d'{? : i
i i s -,-—F'F"
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6. Find the volume and surface area of each 3D figure below and then use the scale factor given to find the new volume
and scale factor of the similar figure. SHOW WORK AND LABEL. Mew Velume
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New volume and surface area after enlarged by scale

factor of 2.
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Mew volume and surface area after enlarged by scale
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C) The figure below 1z a 3!13:: pyramid.
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New volume and surface area after enlarged by scale
factor of 4.

v= 2% MI SA = _ﬁﬁﬂ_jg: ‘~’=ﬁf13ﬂ.@3 E-A-*..Iﬁm:‘ﬂ}




1) Suppose that a company sells laundry soap in boxes that megsyre ﬁches Binche 12 inches. The
company wants to offer larger economy size box. - %({%t‘l - "l i‘ﬂs@.

A) What changes in dimensions would give a box with double the volume? 1'[;& ,.l

He2-VBinchesg %iﬁ ‘Slbgi'ﬂ bﬁql.m

B) What changes in dimensions would give a box with triple the volume?

WS
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C) What change in dimensions would give a box with half the volume?

D) Given each scale factor below, find the volume of the box similar to the basic box.
i. scale factor of

84(2%)=30m,3

ii. Scale factor of 1.5

SRY(1s3): 1994 ;2

iii. Scale factor of 0.5

(o, 53): 7,3
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2) Shamrock Pizza sells an B-inch diameter pizza. SHOW WORK AND LABEL.
A) What is the 3%'c-al area of the pizza? SHOW WORK. B) Whatis the circumference of the pizza?
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C) Suppose Shamrock Pizza makes a larger pizza whose diameter is 1.5 times the size of the 8-inch.
What is the new area of pizza? How many times larger is the area of the new pizza compared tr_'r the area of

the 8-inch pizza? (> 1_"_-,'-[ . S 2 1-5...
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D} What is the new circumference of the pizza that is 1.5 times the size of the 8-inch? How many tlmesq; rger
is the circumference compared to the circumference of the &-inch pizza?
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3) The city of Centerville plans to dig a landfill in the shape of a rectangular prism. The landfill is 85 feet deep,
200 feet wide, and 700 feet long.

A) How many cubic feet of garbage will the landfill hold?

s |

B) The city manager says that an increase of only 10% in each dimension would increase the capacity of the
landfill by 33%. Is she correct? Explain.

Amount of Change

Percent of Change = ¥ 100
! g Original Amount

4) Asmall box of cereal inthe shape of a rectangular prism costs $3.25. The volume is 138 cubic inches. If the
manufacturer changes each of dimensions of the box by a scale factor of 1.2, what should the new cost of the

cereal be? SHOW WORK. ca :3 .
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5) Find the volume and surface area of each 3D figure below and then use the scale factor given to find the

new volume and scale factor of the similar figure. SHOW WORK AND LABEL.
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New volume and surface area after enlarged by
scale factor of 3.
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